4

&

EMERSON.

K-BALL SERIES 172
FLOATING BALL VALVE

Athree piece, full bore floating ball valve designed to I1SO 5211

FEATURES

e Three piece, swing out design
e Investment casting for body and end cap
e Available in Carbon Steel (WCB /1.0619)
and Stainless Steel (CF8M / 1.4408)
body materials
¢ Blow-out proof stem
e Locking device
e Full bore
e Tightness to EN 12266-1 Rate A and API 598
¢ Butt weld
* Socket weld
e Threaded ends to:
- BSPP
- BSPT
- NPT

GENERAL APPLICATIONS TECHNICAL DATA
Ideal for general industrial and service Size range: DN 8- 100
applications including water, oil, gas and NPS i - 4
chemical processes. End connections: Threaded, Butt Weld,
Socket Weld, Tri-clamp
Pressure rating: DN 8 - 40 (NPS " - 1V4):

69 bar / PN 69 /1000 psi

DN 50 - 100 [NPS 2 - 4):

55 bar /800 psi
Temperature rating:  See chart on page 9

Emerson.com/FinalControl Copyright © 2020 Emerson. All rights reserved. VCTDS-15998-EN 20/12



K-BALL SERIES 172
FLOATING BALL VALVE

=< = , 0’4"

A
Q‘H‘%“

Anti-static device

13) (15) (4) (5) (4

PARTS LIST
Material
No. Description SS cs Quantity
1 Body ASTM-A351-CF8M ASTM-A216-WCB 1
2 Cap ASTM-A351-CF8M ASTM-A216-WCB 2
3 Ball ASTM-A351-CF8M 1
4 Ball seat PTFE 2
5 Joint gasket PTFE 2
6 Stem AlSI 316 1
7 Thrust washer PTFE 1
8 O-ring Viton 1
9 Stem packing PTFE 1-2
10 Stem ring AISI 304 1
" Belleville washer AISI 301 2
12 Stem nut AISI 304 2
13 Bolt AISI 304 DN 8-50 (NPS "4-2)
DN 65-100 (NPS 2"2-4)
14 Spring washer Plastic DN 8-50 (NPS :-2)
DN 65-100 (NPS 2V2-4)
15 Hex nut AISI 304 DN 8-50 (NPS V-2)
DN 65-100 (NPS 2'2-4)
16 Stopper AlSI 304 0-1
17 Stopper pin* AlSI 304 1
18 Handle AISI 304 1
19 Plastic cover Plastic 1
20 Lock washer AISI 304 1
NOTE

* Stopper pin featured on DN 65 - 100 (NPS 25 - 4) valves only.

4 pcs
6 pcs
4 pcs
12 pcs
4 pcs
12 pcs




K-BALL SERIES 172
FLOATING BALL VALVE - METRIC

f— K
[y

- K=
B Sy S

<
M2 QQQ
§ M2 M1
i ’ ©
[ / ~/
! J \
1 4\ Jj i N/ A
\ AN X
~_1 ‘|

DN10-15 DN 20 - 50 DN 45 - 100

= =)

1

; i

b
Sibﬁ LQ

@D
?d

il
Il

[——

AE
I
o .

L Socket weld end Butt weld end (SchXX) Butt weld end (100 mm)
DIMENSIONS (mm)
L 1S0 5211

Size DN oD od oK SD&SW BW BW 100 mm H1 H2 w S PCDOA PCD@B M1 M2 J K

8 18.1 11.6 141 59.0 52.4 235.0 37.0 620 1120 8.5 F03036 - - 6 8.0 /16-20
10 18.1 127  17.6 59.0 52.4 235.0 37.0 620 1120 8.5 F03@36 - - 6 8.0 "e-20
15 21.7 150 217 62.0 56.0 236.0 39.0 64.0 1120 7.3 F03@36 - - 6 8.0 76-20
20 272 200 272 77.0 75.0 245.0 427 700 138.0 10.5 F04Q42 F05@50 R3 R3.5 9.5 M14x1.5
25 340 250 339 83.0 83.0 249.0 464 740 138.0 100 F04Q42 F05@50 R3 R3.5 95 M14x1.5
32 427 320 432 94.0 95.0 260.0 528 86.0 160.0 15.0 F05@50 F07@70 R3.5 R4.5 14.0 M18x1.5
40 48.6  40.0 487 107.0 107.0 269.0 585 93.0 2050 150 F05@50 FO07@70 R3.5 R4.5 14.0 M18x1.5
50 605 50.0 61.1 124.0 120.0 276.0 660 101.0 2050 15.0 F05@50 F07@70 R3.5 R4.5 14.0 M18x1.5
65 763 650 738 156.0 156.0 302.0 1015 1430 3225 180 FO7@70 F100102 M10 [N 17.0 "e-14
80 93.0 80.0 898 182.0 182.0 321.0 1125 1540 3225 180 FO7@70 F100102 8.5 211 17.0 Ys-14
100 114.0 100.0 115.4 213.6 213.6 345.0 127.0 168.0 3225 180 FO7@70 F100102 8.5 (3N 17.0 =14
DIMENSIONS (mm) continued

OF1

Size DN Weight (kg) oF Sch10 Sch40 Sch80

8 0.46 13.7 10.4 9.2 7.7

10 0.44 18.1 13.8 12.5 10.7

15 0.57 21.7 17.1 15.8 13.8

20 0.85 27.2 22.5 21.0 18.9

25 1.00 34.0 27.9 26.6 24.3

32 1.70 42.7 36.7 35.1 325

40 2.39 48.6 428 40.9 38.1

50 3.53 60.5 54.8 B72.5) 49.2

65 8.83 73.0 66.9 62.7 59.0

80 12.38 88.9 82.8 77.9 73.7

100 19.83 114.0 108.2 102.8 98.1

w



K-BALL SERIES 172
FLOATING BALL VALVE - IMPERIAL

NPS 2V2 - 4

<
M2 S
I9)
§ M2 M1
i ©
y [N
| | ’ &
A ey Qg  aav
X2 T ] ‘ X o S
| I N7 WA L =X
T
, P \
& \/’
NPS Vi - 2 NPS % - 2
W
=
5 T
- - H
T
T l E} E} if;fo
\ T ﬁ i T
> s s §£J s % s
L Socket weld end Butt weld end (SchXX)
DIMENSIONS (inch)
L
Size NPS oD od oK SD&SW BW BW 100 mm H1 H2 w S PCDOA
" 0.71 046 056 2.32 2.06 9.25 146 244 441 033 F03@1.42
%" 0.71 050 0.69 2.32 2.06 9.25 146 244 441 033 F03@1.42
" 085 059 0.85 2.44 2.20 9.29 154 252 441 029 F0301.42
S/ 1.07 0.79 1.07 3.03 2.95 9.65 1.68 276 543 0.41 F04@1.65
1" 134 098 133 3.27 3.27 9.80 1.83 291 543 0.39 F0401.65
1Va" 1.68 126 1.70 3.70 3.74 10.24 208 339 630 059 F05@01.97
VA 1.68 126 1.70 3.70 3.74 10.24 2.08 339 630 059 F05@1.97
2" 238 197 2.4 4.88 4.72 10.87 260 398 807 059 F05@1.97
24" 3.00 256 291 614 6.14 11.89 4.00 5.63 1270 0.7 F0702.76
3" 3.66 3.15 354 7.7 717 12.64 443 6.06 1270 0.71 F07@2.76
4" 449 394 454 8.41 8.41 13.58 500 6.61 1270 0.71 F07@2.76
DIMENSIONS (inch) continued
OF1
Size NPS Weight (lb) OF Sch10 Sch40 Sch80
A 1.01 0.54 0.41 0.36 0.30
" 0.97 0.71 0.54 0.49 0.42
%" 1.26 0.85 0.67 0.62 0.54
3" 1.87 1.07 0.89 0.83 0.74
1" 2.20 1.34 1.10 1.05 0.96
1Va" 3.75 1.68 1.44 1.38 1.28
14" 3.75 1.68 1.44 1.38 1.28
2" 7.78 2.38 2.16 2.07 1.94
24" - 2.87 2.63 2.47 2.32
3" - 3.50 3.26 3.07 2.90
4" - 4.49 4.26 4.05 3.86

@D

3250

]
\

1

?d

[——

| L

Butt weld end (100 mm)

1S0 5211
PCDOB M1 M2

- - 6

= = 6

- - 6
F05@1.97 R3 R3.5
F0501.97 R3 R3.5
F07@2.76 R3.5 R4.5
F0702.76 R3.5 R4.5
F0702.76 R3.5 R4.5
F1004.02 M10  ©0.43
F1004.02 ©0.33 (0.43
F1004.02  ©0.33 ©0.43

J K
8 7he-20
8 /6-20
8 7e-20
9.5 M14x1.5
9.5 M14x1.5
14 M18x1.5
14 M18x1.5
14 M18x1.5
0.67 "a-14
0.67 "s-14
0.67 "s-14




K-BALL SERIES 172T
SANITARY FLOATING BALL VALVE

View A

N

Regular ball seat Cavity filled ball seat

DN 15-50 (NPS 2-2) DN 65-100 (NPS 2'/2-4)

TR ()

Anti-static device

—(®
\@ View B
—®
{}

IS5

PARTS LIST

No. Description Material Quantity

1 Body CF8M 1

2 Cap CF8M 2

3 Ball CF8M 1

4 Ball seat PTFE 2

5 Stem AISI 316 1

6 Thrust washer PTFE 1

7 Stem packing PTFE 2

8 Belleville washer AISI 301 2

9 Stem ring AlSI 304 1

10 Stem nut AISI 304 1

" Square washer AISI 304 1

12 Handle nut AlSI 304 1

13 Lock washer AISI 304 1

14 O-ring Silicon rubber 1

15 Handle AlSI 304 1

16 Lock device AlSI 304 1

17 Plastic cover P.V.C 1

18 Bolt AISI 304 DN 15-65 (NPS %-272) 4
DN 80-100 (NPS 3-4) 6

19 Spring washer AlSI 304 DN 15-65 (NPS %-272) 8
DN 80-100 (NPS 3-4) 12

20 Hex nut AISI 304 DN 15-65 (NPS %-272) 8
DN 80-100 (NPS 3-4) 12

21 Cap cover p.v.C 2




K-BALL SERIES 172T
SANITARY FLOATING BALL VALVE - METRIC

?B

Size
DN
10
15
20
25
32
40
50
65
80
100

Size
DN
10
15
20
25
32
40
50
65
80

=

| T
[0p]
o -
S
X
L
a4
@ R\
]\ 7
3\ ) @ //
J AL Il
\>/4
i wi PCDOB
PCDOA
DIMENSIONS (mm)
3A DIN BS
od OD OA OB ©Od OD OA OB ©d OD OA OB L
- - - - 10.0 130 275 340 - - - - 79.0
94 127 202 250 160 19.0 275 340 95 127 203 254 890
158 19.1 202 250 20.0 230 275 340 159 19.1 203 254/101.0
221 254 435 505 260 290 435 505 222 254 435 505 114.0
- - - - 320 350 435 505 - - - - 1270
348 381 435 505 380 410 435 505 349 381 435 505 140.0
475 508 565 640 500 53.0 565 640 47.6 508 565 64.0 156.0
602 635 705 775 660 700 835 91.0 603 635 705 775 1970
729 762 835 910 81.0 850 97.0 106.0 73.0 762 835 91.0 229.0
97.4 101.6 110.0 119.0 100.0 104.0 110.0 119.00 97.6 101.6 110.0 119.0 241.0
DIMENSIONS (mm) continued
1S0 5211
PCDOA PCDOB R1 R2 Weight kg
F03@36 F04@42 3.0 3.0
F03@36 F04@42 3.0 3.0 0.48
F03@36 F04@42 3.0 3.0 0.62
FO4Q42 F05@50 3.0 35 0.97
F04@42 FO5@50 3.0 35
F05@50 FO7@70 35 45 1.9
F05@50 F07@70 35 45 2.8
FO7@70 F100102 45 55 6.1
FO7@70 F100102 45 55 10.0
FO7@70 F100102 45 55 17.0

100

L
(100 mm)
230.0
237.0
241.0
247.0
255.0
265.0
278.0
302.0
319.0
346.0

1
1

1
1
1

H
53.0
57.0
64.0
75.0
81.0
00.0
09.0
35.0
45.0
60.0

w
95.0
95.0
95.0
120.0
120.0
150.0
150.0
215.0
215.0
300.0

- @D
=

)

e 17

Butt weld end (100 mm)

A" -

DN 15-25
] |
m <t o
SRS S
L=

Clamp end

3A: 1" - 4"

DN 10 - 100

BS: V2" - 4"
| |
m < =]
SRS S|
L= '

Clamp end

E!

E (100mm) S S1
21.5 80.0 33.0 100
21.5 80.0 365 10.0
25.0 80.0 44.0 10.0
28.7 80.0 52.0 12.0
28.0 80.0 57.5 12.0
29.7 80.0 69.3 16.0
31.0 80.0 78.5 16.0
37.5 80.0 101.0 19.0
46.0 80.0 111.0 19.0
7.3 80.0 126.5 19.0

J

8.0
8.0
8.0
9.5
9.5
4.0
4.0
7.0
7.0
17.0

K
/6-20
"he-20
"6-20

M14x1.5
M14x1.5
M18x1.5
M18x1.5

Ye-14

Te-14

"a-14

6



K-BALL SERIES 172T
SANITARY FLOATING BALL VALVE - IMPERIAL

?B

=

N
sy

=—0d —j

DIMENSIONS (inch)

Size
NPS

ad

0.37
0.62
0.87
0.00
1.37
1.87
2.37
2.87
3.83

3A
oD QA

0.50 0.80
0.75 0.80
1.00 1.71
0.00 0.00
150 1.71
200 2.22
2.50 2.78
3.00 3.29
400 4.33

[/]:]

0.98
0.98
1.99
0.00
1.99
2.52
3.05
3.58
4.69

DIMENSIONS (inch) continued
1S0 5211

Size
NPS
10
15
20
25
32
40
50
65
80
100

PCDOA

PCDOB

F0301.42 FO401.65
F03@1.42 FO401.65
FO3(@1.42 F0401.65
F04@1.65 F0501.97
F0401.65 F0501.97
F0501.97 F0702.76
F0501.97 FO702.76
F07@2.76 F1004.02
F0702.76 F1004.02
F07@2.76 F1004.02

R1
0.12
0.12
0.12
0.12
0.12
0.14
0.14
0.18
0.18
0.18

—

ad
0.39
0.63
0.79
1.02
1.26
1.50
1.97
2.60
3.19
3.94

R2

oD

0.51
0.75
0.91
1.14
1.38
1.61
2.09
2.76
3.35
4.09

Weight lb

OA
1.08
1.08
1.08
1.7
1.71
1.7
2.22
3.29
3.82
4.33

1.06
1.37
2.14
4.19
6.17
13.45
22.05
37.48

0B

1.34
1.34
1.34
1.99
1.99
1.99
2.52
3.58
417
4.69

PCD@B
PCD@A

@d

0.37
0.62
0.87
0.00
1.37
1.87
2.37
2.87
3.84

@D

0.50
0.75
1.00
0.00
1.50
2.00
2.50
3.00
4.00

BS

OA @B

0.80
0.80
1.71
0.00
1.7
2.22
2.78
3.29
4.33

1.00
1.00
1.99
0.00
1.99
2.52
3.05
3.58
4.69

L
3.1
3.50
3.98
4.49
5.00
8.5/l
6.14
7.76
9.02
9.49

L

(100 mm)

9.06
9.33
9.49
9.72
10.04
10.43
10.94
11.89
12.56
13.62

H
2.09
2.24
2.52
2.95
3.19
3.94
4.29
5.3
5.71
6.30

w
3.74
3.74
3.74
4.72
4.72
5.91
5.91
8.46
8.46

- @D
=

)

Y

Butt weld end (100 mm)

3A: 2" -

A

DN 15-25

[an)
(S

i

- @d—

1]

A

L

Clamp end

3A: 1" -

4

DN 10 - 100

BS: V2" -

[as]
(S

i

z

- gd -

E
0.85
0.85
0.98
1.13
1.10
1.17
1.22
1.48
1.81
1.48

L7

Clampe

E
(100 mm)
3.15
3.15
3.15
S
3.15
3.15
3.15
15
3.15
3.15

ajjs

nd

S
1.30
1.44
1.73
2.05
2.26
2.73
3.09
3.98
4.37
4.98

S1
0.39
0.39
0.39
0.47
0.47
0.63
0.63
0.75
0.75
0.75

J
0.31
0.31
0.31
0.37
0.37
0.55
0.55
0.67
0.67
0.67

K
/6-20
"he-20
"6-20

M14x1.5
M14x1.5
M18x1.5
M18x1.5

"a-14

a-14

a-14




K-BALL SERIES 172

FLOATING BALL VALVE
TORQUE VALUES
Differential pressure torque values in Nm (ft-Lb)
Size MAST
DN NPS 0(0) 6.9(100) 20.7(300)  48.3(700) 69(1000) 103.4(1500) A276-316SS
8 Ve 4.0 (3.0 4.0 (3.0 4.0 (3.0 5.0(3.7) 5.0(3.7) - 35.0 (25.8)
10 % 4.0 (3.0 4.0 (3.0) 4.0 (3.0 5.0(3.7) 5.0(3.7) = 35.0 (25.8)
15 " 6.2 (4.6) 6.4(4.7) 6.8(5.0) 7.2(5.3) 8.6(6.3) - 35.0(25.8)
20 Y 8.8 (6.5) 9.0 (6.6) 9.6(7.1) 105(7.7)  11.5(8.5) = 64.0 (47.2)
25 1 12.0(8.9)  1251(9.2) 12.5(9.2) 13.0(9.6)  13.0(9.6) - 64.0 (47.2)
32 13.5(10.00 14.0(10.3) 14.5(10.7) 17.0(12.5) 20.5(15.1) = 167.0 (123.2)
40 12 18.0(13.3)  18.5(13.6] 19.5 (14.4) 23.5(17.3) 33.0(24.3) - 167.0(123.2)
50 2 21.0(15.5) 21.5(15.9)  23.0(17.0) 38.5(28.4) 68.0(50.2) = 167.0 (123.2)
65 2% 425(31.3) 45.0(33.2) 61.0(45.00 125.0(92.2) - - 307.0 (226.4)
80 3 61.0 (45.0) 64.0(47.2) 83.0(61.2) 180.0(132.8) - - 307.0 (226.4)
100 4 80.0(59.0) 83.0(61.2) 105.0(77.4) 213.0(157.1) - - 307.0 (226.4)
NOTE
Seat:  PTFE/RPTFE
Stem: A276-316 SS




K-BALL SERIES 172
FLOATING BALL VALVE

PRESSURE / TEMPERATURE RATING - SERIES 172 STANDARD VALVE

AP = psi | I AP =bar
DN 8-50 (NPS "i-1"2)

1000
%
\G//‘ S,

DNSO-100 N
[NPS 2-4) \\

44
D N

500 | %\
@//';0\\\ 27.6
N\ 13.8
0 N
14 32 122 212 302 392 482 °F
210 0 50 100 150 200 250°C

69

PRESSURE / TEMPERATURE RATING - SERIES 172T SANITARY VALVE

AP = psi 1 T AP =bar
DN 8-50 (NPS ":-1"4)

1000
N

69

.

2 55
DN 50-100 (NPS 2-4)
N N 41.4

S
500 | %ﬁ \
°\” 276
\\\ 13.8
0 N\
14 32 122 212 302 392 482 °F
210 0 50 100 150 200 250°C

NOTE

Tri-clamp end max. working pressure: 13.8 bar at 38 °C (200 psi at 100 °F)
Body rating PN 63: DN 10 - 40 (NPS % - 172)

Body rating PN 40: DN 50 - 100 (NPS 2 - 4)

© 2010, 2020 Emerson Electric Co. All rights reserved 12/20. Keystone is a mark owned by one of the companies in the Emerson Automation Solutions business unit of
Emerson Electric Co. The Emerson logo is a trademark and service mark of Emerson Electric Co. All other marks are the property of their prospective owners.

The contents of this publication are presented for informational purposes only, and while every effort has been made to ensure their accuracy, they are not to be
construed as warranties or guarantees, express or implied, regarding the products or services described herein or their use or applicability. All sales are governed by
our terms and conditions, which are available upon request. We reserve the right to modify or improve the designs or specifications of such products at any time without
notice.

Emerson Electric Co. does not assume responsibility for the selection, use or maintenance of any product. Responsibility for proper selection, use and maintenance of
any Emerson Electric Co. product remains solely with the purchaser.

Emerson.com/FinalControl




